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3. 1000 m® 37|9] Z7|ZX(aeration tank)S ZxE & &2{X|(activated sludge)
Ho|A 150 mg BOD/LC| 7| (substrate) =5 & 4000 m?/day R&o &
Mel+=E M2|stiaxt ot gd&s2{X(Q D|dE MEeIXtEs ChHEar 2ok

—

->.iOI-J

nﬂu

maximum specific growth rate, p_. =2.5day

half saturation constant, &, =100 mg BOD/L
decay rate, k, =0.05 day '

yield coefficient, Y'=0.4 mg BOD/mg MLVSS

1) ol oM =2 7

| & A SE7|F 10 mg BOD/LE HF7| 9|3t SRT &2 +
St O] i Z7|=x Lf O|M=

SEE TR (107)

2) €XtNME|2 S&E7t 300 mg BOD/LZE &O0IXE M, 7=+ sk 7[&E 7|
?ISiM= SRTZF O{IEsto{of sh=7t2 O] el F7|= U DdE s=& ot
2 F7x= U 0ds s== HEA "Hast=7 (108)

C

of MHAO| 7| M BHAIZHSO ZHBIACL SHI QYSHO 1
|= OFgHt7HA(S0,)7F 50 pg/m?, PbtstErS /m
(NO2)7t 250 pg/m® O|QICt. O] ZHFX|& 2|Lt2tel oh7| &t
71 B A 71YE 1718, E+& 15°CO|RULt.
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Hint1: R2[Li2t CH7[&2E7[E2 28 FH7|=8 AdE [EH] 28720 L2t /U

—

2 (http://www.law.go.kr)

Hint2: SO,2| X122 64.1, CO= 28, NO,= 462 A2

(2073)
5. Q4 ZEE S50 a7t A ool /7Y FilzteE=2 o 7HA| HA|StL,
0 et xet £ LMRAS HAISHAI2. (15F)
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Hintl: THMsE StatAZ#0F ofL|2t =40| CHE of2

Hint2: 2$&=d Xt&(Slope Factor; SF= O|= EPAS| C}Z HAO|EE X
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Oral slope factor (EFl: (mg/kg-day)’)

Compound Value
chloroform -
THMs b(omod/chloromethane 0.062
dibromochloromethane 0.084
bromoform 0.0079
Bromate 07
NDMA (N-nitrosodimethylamine) 57

THMs & Chloroform®2 &T74&F/0] S/aF E8=40/ 5. Slope factor’} E+=
Brot= M2 F02 NDMA>bromate>dibromochloromethane>bromodichloromethane

>bromoform =<
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Fo #YNZI WEEO, SHO £C/E YL T £2 A2 LI 5 0f

ff/O/E/EfEQ ZIX| A chloramine 2Z0/L} @F £Z0/ JrLEZ=HI} Q/8/CFT
HZXA B2 HIEL 017l0) 2 £=FojA O/F/3 £ERME0/ YOfAIES

sEZ Y=L 27510/0F B (Al =58 x )

2OI01 ATt X £ Dol g+
2 oozl 1 AlMe ofue ;

ol O
A

o Ha2|stn Y= A|do| HAl
s H
_Eﬁ, 3XHH (R EX2))7H O|R0IX| 2 JUEX]

O] OofiEfet =M=Z BiX|[Z|Of
Abote] 7| &otA 2.

FO: HIEA] 2AA ZAMSHO] 7|&5H7| BHELILY.

(255

. 1000 m® 37|9| ZE7|ZX(aeration tank)E #= &
=

X—I)

>

& 24 =2 X|(activated sludge) &
HOjA 150 mg BOD/LO| 7|E(substrate) =5 %= 4000 m?/day 92| Xt
Ne|+=E Meotaxt oot gdsg{X[el OjdE 4 A= ChEat &k
maximum specific growth rate, p . =2.5day"
half saturation constant, K, =100 mg BOD/L

decay rate, k, =0.05 day '

yield coefficient, Y=0.4 mg BOD/mg MLVSS

1) Ol 380N F=2 7|2 s&E7|&F 10 mg BOD/ LE 57| flet SRT e T
sto, o] If ZE7|x= U OJdE sEE oA, (108)

&)

p K,(1+kp)  100mg/L - (1+0.05day '+ 6,) 100+ 50, /L (6, in days)
- - - m wm aays

0.t —k)—1  0.25day ' —0.05day )—1  2.456,—1 "9 ¢ Y

100+ 50,

10= 2.450,— 1

19.50, = 110

0. = 5.64 days



[457.210A.001] 2725t oA 3

=

_b Y59

X= ty 1+kg0.

1000 m?

———————=0.25da
4000m°/ day v

0 =
_ 564day 0.4mg BOD/mg MLVSS - (150 —10) mg BOD/ L

=985 mg MLVSS/L
0.25 day 1+0.05 day ' - 5.64 day g

) €N 2|2 &=7t 300 mg BOD/LE =OIFE2 W, REF &k 7|82 HF7|
sf M= SRTZF OIfstojof =72 O] o] Z7|x= I O|ME sEE oA
Q. EIJX U OME s OEA Bsltst=7t? (108)

7o+ s£9 20 £ REF s£E 27/ 2otGMNE FLF SRTF E
R3 = SRTE 56422 HIFE2

_ 564day 0.4myg BOD/mg MLVSS - (300—10) mg BOD/ L

= 2040 mg MLVSS/L
T 0.25day 1+0.05day ! - 5.64 day g

J2/Lp EI|E U Oj¥E SE& /2.

oF HMmMAQ| [f7] HE THAIZLSO ZEHSQUCE F-T LEEHO| 1
= OP%FWM (SO2)7t 50 pg/m?3, YABFEEA(CO)ZL 125 pg/m3, O] 4t

g/m® O|RACL O] HFX|= 2[Ltztel ti7|etd7|ES o=
O

17|, 2= 15°CO| AL},
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Hint1: R2[Li2t 7|2 87|=2 2B EH7|= AdT (2] 287|200 L9

S (http://www.law.go.kr)

Hint2: SO,2| EXI22 64.1, CO= 28, NO,= 462 A2
(20%)
)

REILEF CYZIBHEZIF(1AI2F B 7 A)2 SO, CO, NOZF 22 0.15 25 0.10 ppm

o/
.
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P _ M9 1 RT
RT PP = s TP

air air

o MG;
e k=l —31 = ppm; X MW, X
m

) 5 1 8.21 %10 ° m® — atm/K— mole - 288 K

2 X = 0.
S0z 50 ,ug/m 64.1 g/mole 1 atm 0-018 ppm

. . < -5 3 _ _ .
CO 125 jg/m® = 1 8.21 < 10™ " m® — atm/K— mole - 288 K _ 0.11 ppm
28 g/mole 1 atm
1 8.21 10 % m® — atm/K— mole - 288 K

; 3% X =.

NOz: 250 pg/m 46 g/mole 1 atm 0-13 ppm

afepA NOEF L7181 7T s £2fE.

het A olQlel /7718 woi=t=ES o 7HAl MAlstd,

Z £ A
SISt Eet Fo YWMAS HAISHAIL. (15H)



